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Group D

1). Which of the following sequences would the
restriction endonuclease recognize?

(a) 5 — GAATTC -3 (b)5 — GAATTC - 3’
(c) 3 = GAATTC -5 (d) 5 — GAATTC — 3’

2). Which of the following is the correct order of the
greenhouse gases in increasing order of their
contribution in the global warming?

(a) CO,<CH4<CFCs<N,0
(b) CFCs<CO,<CH4<N,0O
(c) N;O<CFCs<CH4<CO,
(d) CH4<N,O<CFCs<CO,

3). Which of the following species is not included in
Poultry management?

(a) Pork and rabbit (b) Geese and turkeys
(c) Chicken and ducks (d) dove and pigeon

4), Match the type of barriers with their respective

categories.
Barrier Type of barrier
a. Interferons |. Physical

b. Mucous coating of Il.

respiratory tract Physiological
c. Acid in stomach IIl. Cytokine
d. Natural killer cells IV. Cellular

(a) a-lll; b-1; c-ll; d-IV  (b) a-I; b-ll; c-llI; d-IV
(c) a-lll; b-ll; c-I; d-1  (d) a-I; b-1V; c-llI; d-lI

5). Match the following correctly.

i. The Earth Summit
ii. Western Ghats
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iii. Aravalli Hills of Rajasthan c. k

iv. Cryopreservation d. E

() i-c, ii-d, iii-a, iv-b (b} i-a, ii-c, iii-b, iv-d

(c) i-b, ii-a, iii-d, iv-c  (d) i-d, ii-b, iii-c, iv-a

6). Vertical distribution of different species take
places at different levels is called

(a) Stratification (b) Succession (c) Pyramid

(d) Decomposition

7). Who developed the concept of “Inertia™?
(a) Newton (b) Albert Einstein (c) Charles Darwin
(d) Galileo Galilei

8). Population ecology, it links ecology to population
genetics and

(a) Diversity (b) Evolution (c) Environment

(d) Humans

9). The first transgenic cow was ?

(a) Rosie (b) Polly (c)Andi (d) Oncomouse

10). The correct statement regarding the basicity of
arylamines is:

(a) arylamines are generally less basic than
alkylamines because the nitrogen lone-pair electrons
are delocalized by interaction with the aromatic ring T
electron system.

(b) arylamines are generally more basic than
alkylamines because the nitrogen lone-pair electrons
are not delocalized by interaction with the aromatic
ring T electron system.

(c) arylamines are generally more basic than
alkylamines because of aryl group

(d) arylamines are generally more basic than
alkylamines, because the nitrogen atom in arylamines
is sp-hybridized

11). Polarisation of electrons in acrolein may be
written as



@ cHiI =CH-CH* =0
(b) CHY =CH-CH=0%

(¢) CHf=CH*—-CH =0

() I =CH —-CH =0

12). In this reaction CH3CHO + HCN

CHaCH(OH)CN _ HOH _ CHsCH(OH)COOH

an asymmetric centre is generated.

The acid obtained would be

(a) D-isomer (b) L-isomer
(c) 50% d + 50% l-isomer (d) 20% d + 80% l-isomer

13). Compound A has a molecular formula
C,CI;0H. It reduces Fehling's solution and on

oxidation, it gives a monocarboxylic acid B. If A is
obtained by the action of chlorine on ethyl alcohol,
then compound A is

(a) Methyl chloride (b) Monochloroacetic acid
(c) Chloral (d) Chloroform

14). What is the oxidation number of Cr in K3CrOg?
(@-3 (b)+5 (c)-5 (d)+3

15). What is the pH of a solution in which 25 .0 mL
of 0.1 M NaOH is added to 25 mL of 0.08 M HCI
and final solution is diluted to 500 mL?

(a)12 (b)15 ()17 (d) 11

16). A hand book states that the solubility of
RNH, (g) in water at 1 atm and 25° C is 22 .41

volumes of RNH, (g) per volume of water (pKy, of
RNH, = 4). Find the maximum pOH that can be
attained by dissolving RNH, in water.

(@5 (b2 (c)7 (d)9

17). If the dissociation constant of an acid HAis 1 x

1075, the pH of a 0.1 molar solution of the acid will
be approximately

@s (b7 (c)3 (d)9

18). Adiver in a swimming pool wants to signal his
distress to a person lying on the edge of the pool
by flashing his water proof flash light

(a) He must direct the beam vertically upwards

(b) He has to direct the beam horizontally

(c) He has to direct the beam at an angle to the
vertical which is slightly less than the critical angle of
incidence for total internal reflection

(d) He has to direct the beam at an angle to the
vertical which is slightly more than the critical angle of
incidence for the total internal reflection

19). In the interference pattern, energy is
(a) Created at the position of maxima

(b) Destroyed at the position of minima
(c) Conserved but is redistributed

(d) None of the above.

20). Which among the following is NOT a use of
potentiometer?

(a) Measuring current
(b) Measuring potential difference
(c) Measuring internal resistance of a cell

(d) Comparing emfs of two sources

21). If to an intrinsic semiconductor, a pentavalent
element is added as impurity, one get extrinsic
semi conductor of type.

(a) n-type (b) p-type (c)intrinsic (d) Both Aand B

22). A neutral water molecule (H50) in it's vapor
state has an electric dipole moment of magnitude

6.4 x10739C-m. How far apart are the molecules
centres of positive and negative charge

@4m ®4mm ©D4pum D4pm

23). You are provided with three resistors of 20 Q,
50 Q and 100 Q. What is the minimum resistance
you can obtain from these resistors?

@750 (b)125Q (c)20.5 Q (d)255 Q

24). Which of the following statement is correct?

(a) The energy required to build up current is given by
E = L['_Z where L is inductance and { is current.

(b) The frequency of rotation of the shaft of AC
generator in India is 60 Hz.

(c) DC generator works on the principle of
Electromagnetic Induction.

(d) It is possible that e.m.f is induced in a single
isolated coil due to change of flux through the coil by
means of varying the current through the same coil.

25). Choose the correct statement from the
following.

(a) Electric field lines must originate from negative
charge

(b) Electric field lines do not form closed loop



(c) Electric field must be a conservative field

(d) Electric field lines can form a closed loop

26). Ais B's wife's husband's brother. C and D are
sisters of B. How is A related to C?

(a) Brother (b) Sister-in-law (c) Wife (d) Sister

27). In the following question, select the related
word from the given alternatives.
Clock : Time :: Ammeter : ?

(a) Voltage (b) Heat (c) Current (d) Watt

28). Jaya walked north from her house with her son
Rakesh. Rakesh's school bus took him to the right
before the signal point. Jaya continued on the
same line and put petrol in the scooter. She then
turned to her left and went to a supermarket.
Which direction is the supermarket from the petrol
pump?

(a) East (b) South (c) North (d) West

29). In the following question, two statements are
given, followed by twao conclusions | and Il. You
have to consider the statement to be true even if
they seem to be at variance from commonly
known facts, You have to decide which of the
given conclusions, if any, follow from the given
statements.

Statements:

(1) Due to contamination of water, large numbers
of people were admitted to hospital.

(2) The symptoms were of Typhoid

Conclusions:

|. Contamination of water may lead to Typhoid.

Il Typhoid is a contagious disease.

(a) Only conclusion | is true
(b) Only conclusion Il is true
(c) Both conclusions | and |l are true

(d) Both conclusions | and Il are false

30). Which answer figure will complete the pattern in
the question figure?
Question Figure :

?

Answer Figure :

(1) 2 @ ()
(a) Fig.(1) (b) Fig.(2) (c) Fig.(3) (d) Fig.(4)

31). Consider the given statement/s to be true and
decide which of the given
conclusions/assumptions can definitely be drawn
from the given statement.

Statements:

1) Some principals are teachers.
2) All teachers are students.
Conclusions:

I. All principals are students.

Il. Some students are principals.

(a) Only conclusion | follows
(b) Only conclusion Il follows
(c) Both conclusion | and conclusion Il follow

(d) Neither conclusion | nor conclusion Il follows

32). Three friends A, B and C are standing around
an equilateral triangle park in such a way that A
and B are standing at the base and C is standing
at the top corner. The measure of each side is 6
meters. B is standing at the south-east of C. A and
B walk towards North-West and North-East
respectively for 6 meters at 60-degree angle. Then
B and A turn towards their left and right
respectively and meet at C. What is the distance
between A and B now?

(a) 6 meters (b) O meters (c) 28 meters
(d) 7V2 meters

33). Deepu started his journey from A and moves 2
km towards South, then he turns right and moves
1/2 kilometre. Again he takes a right turn and
walks 2 km. Now he takes a left turn and walks 3
km more. How far he is from the starting point?

(a) 3.5km (b) 25km (¢) 7.5km (d) 1.5km

34). Consider the given statement/s to be true and
decide which of the given
conclusions/assumptions can definitely be drawn
from the given statement.

Statement:

1) All elephants are men.

2) All men are socks.
Conclusion :

I: Some socks are elephants.
II: All elephants are socks.

(a) Only Conclusion | follows
(b) Only Conclusion Il follows

(c) Both Conclusions | and Il follows

(d) Neither conclusion | nor Il follows

35). A series is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

D4W, G9T, J16Q, ?

(@) L25N (b) P25M (c) 025J (d) M25N

36). In the following question, select the related
group of letters from the given alternatives.
BD: YW :: HJ: ?

(aSR (b)QQ (c)SQ (d)ST



37). Aseries is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

AZ, GT, MN, SH, ?

(a)YB (b)VE (c)YD (d)RI

38). Aseries is given with one term missing, Choose
the correct alternative from the given ones that will
complete the series.

19, 28, 39,52, 7,84

()39 (b)52 (c)67 (d)s4

39). Which answer figure will complete the pattern in
the question figure?

: ?

(a) (b) (c) 0

40). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

K:F:Q:?

(@D (b)L (c) O (d) W

41). If the day before yesterday was Friday, what
day will two days after the day after tomorrow be?

(a) Saturday (b) Thursday (c) Friday (d) Sunday

42). |f the 23" of a month is a Sunday, what day it
would have been two weeks and four more days
earlier?

(a) Monday (b) Tuesday (c) Wednesday
(d) Thursday

43). If FAKE is coded as 52106 and MAD is coded
as 1223, then how will DEER be coded as?

(a) 35418 (b) 36420 (c) 36419 (d) 47520

44). In the following question, select the related
word pair from the given alternatives.
Tongs : Hold :: 2 : ?

(a) Shovel : Scoop (b) Oar: Dig (c) Spade : Row
(d) Shield : Feed

45). In a class of 30 students, 16 like football and 18
like volley ball, how many students like both
sports?

(@4 (b)6 (c)8 (d)3

46). Ifin a certain code ‘OPERATION' is written as
‘BWDATXPBJ’ and PARENT is written as
‘WRADJX’, how will ‘ORIENT' be written in that
code?

(a) PSIFOU  (b) BAPDJX (c) BPADJX
(d) BWPDJX

47). Kusum is the wife of Ravi. Govind and Prabhu
are brothers. Govind is the brother of Ravi. Prabhu
is Kusuma's

(a) Cousin (b) Brother (c) Brother-in-law

(d) Uncle

48). Study the given pattern carefully and select the
number that can replace the question mark (?) in
it.

(@82 (b)96 (c)74 (d)64

49). Select the letter-cluster that can replace the
question mark (?) in the following series.

TULG, WRPC, ZOTY, CLXU, ?

(a) GIAQ (b)FIBQ (c)FJCQ (d) FICR

50). Ifin a certain way ROCKET is coded as
XLIGVP, then how MOBILE will be coded in the
same manner?

(a) YLNVLR (b) YLNVOR (c) YLNUOR
(d) YLMVOR

51). Direction: The question below consists of a
question and two statements numbered | and I
given below it. You have to decide whether the
data provided in the statements are sufficient to
answer the question. Read both the statements
and give answer.

Amongst five people - C, D, E, F and G each have
different weights.



Who is the second heaviest among all persons?

|. D is the heaviest person. B is lighter than E and
G.E is the third lightest person.

IIl. F is heavier than G. Only two persons are
lighter than G.

(a) Data in statement | alone is sufficient to answer
the question, while the Data in statement Il alone is
not sufficient to answer the question.

(b) Data in statement |l alone is sufficient to answer
the question, while the Data in statement | alone is not
sufficient to answer the question.

(c) Data either in Statement | alone or in statement Il
alone is sufficient to answer the question.

(d) Data in both the Statements | and Il together is not
sufficient to answer the question.

52). A+B means A is mother of B.
A-B means A is sister of B.
A+B means A is daughter of B.
AxB means A is father of B.
PxQ-R+S+T

How P is related to T?

(a) Uncle (b) Brother (c) Mother (d) Father

53). A question and three statements labelled (1), ()
and (Ill) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Question: What is the number of students in
science stream?

Statements:

|. Class teacher remembers that the number of
students is between 25 and 37

II. Principal remembers that the number is multiple
of 9 and an even number.

Ill. Monitor of the class remembers that number of
students is a perfect square.

(a) Statement | and Il together are sufficient.
(b) Statement Il and 1l together are sufficient.

(c) Statement | and Il or | and Ill together are
sufficient.

(d) Both I, Il and Il together are sufficient.

54). A guestion and three statements labelled (1), (I1)
and (lll) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Question: What is the average weight of A, B, C
and D?

Statements:

|. Weight of B is 18 kg more than A and 20 kg
more than C. Weight of D is 40 kg which is 10 kg

less than C.
Il. Average weight of B and C is 60kg. A's weight is
12 kg more than D’s weight.

(a) Only statement | is sufficient.
(b) Statement | and Il together are sufficient.

(c) Data is not sufficient. (d) Only Il is sufficient.

Direction: Each of the questions below consist a
question following two statements numbered | and
Il. You have to decide whether the data provided in
the statements are sufficient to answer the
question. Study the data carefully and answer the
questions accordingly.

55).
) Six people are sitting around a triangle table.
Three of them sit at the corners facing outside and
three are sitting on the sides facing inside. Who
sits third to the right of H?

I. S is not sitting near J. H is not facing outside. N
sits second to the right of L.

Il. More than two people sit between L and H. One
person sits between J and H. U sits third to the
right of J.

(a) The data in statement | alone is sufficient to
answer the question, while data in statement Il alone
is not sufficient to answer the question.

(b) The data in statement Il alone is sufficient to
answer the question, while data in statement | alone is
not sufficient to answer the question.

(c) The data in statement | alone or in statement Il is
sufficient to answer the question.

(d) The data in both statements | and statement Il
together are necessary to answer the question.

56). Atwhat percentage rate compound interest
compounded annually for a sum of Rs. 40,000, will
amount to Rs. 44,100 in two years?

@5 ()2 (c)4 (d)7.5

57). The height of a right circular cone is 35 cm and
the area of its curved surface is four times the area
of its base. What is the volume of the cone (in

m? and correct up to three decimal places)?
(a) 3.316 (b) 2.994 (c)2.625 (d)3.384

58). \What is the HCF of 8 7

4 6
5'8'25

@ 1 Ml (©1 @_L
100 5 50 200

59). The given histogram represents the frequency
distribution of average runs scored by 50 selected
players from a district in a local cricket tournament.



Frequency

2

10.5 20.5 30.5 405 50.5 605 70.5

Runs

How many players scored more than 30.5 on
average?

(@) 28 (b)34 (c)12 (d)16

60). While tabulation of marks scored in an
examination by the students of a class, by mistake
the marks scored by one student got recorded as
93 in place of 63, and thereby the average marks
increased by 0.5. What was the number of
students in the class?

(a)60 (b)20 (c)15 (d)30

61). If each side of an equilateral triangle is 12 cm,
then its altitude is equal to :

(a)ﬁﬁcm (b)3£cm (c)6ﬁcm (d) 55 cm

62). A chord of the larger among two concentric
circles is of length 10 cm and it is tangent to the

smaller circle. What is the area (in cmz) of the
portion between the two circles?

(@10m (b)25T (c)5m (d)%

63). What is the simplified value of:
B 3+1x13) 5
g ez fig (8 ¥ &

@1 2 () L (d L
24 12

64). The given bar chart represents the average
marks obtained in English (E) and vernacular (V)
by the students of five districts D1, D2, D3, D4, D5
in a state at the secondary level examination of a
particular year.(Marks secured out of a total of
100).

What is the average percentage of marks in
English of the five districts?

Average Marks in Exam

(@) 73% (b)67% (c)75% (d) 68%

65). (4x3y - 6x2y2 + 4xy3 = y4) can be expressed
as:

@x+y*—x* ) x+y*—y* () (x—y)*t—x*
(d) x* — (x—y)*

66). 4 boys from school A and 6 boys from school B
together can set up an exhibition in 5 days. While
5 boys from school A and 10 boys from school C
together can do in 4 days or 3 boys from school B
and 4 boys from school C together can do in 10
days. Then how many boys from school A can set
up the exhibition in one day?

(a) 60 (b)40 (c)20 (d)80

67). After allowing a 10% discount on the marked
price of an article,a dealer makes a profit of 5%.
What is the marked price, if the cost price of the
article is Rs.3007

(a) Rs. 400 (b) Rs. 320 (c)Rs.375 (d) Rs. 350

68). (320 + 342 +530+915)+(20+22 —x+ 18) =
43, then the value of x is:

(@15 (b)11 (c)26 (d)23

69). Which is the largest six-digit number, which
when divided by 12,15, 20, 24 and 30, leaves the
remainders 8, 11, 16, 20 and 26 respectively?

(a) 999956 (b) 999982 (c) 999960 (d) 999964

70). What is (0.08% of 0.008% of 8)1/9?
(@) 0.2 (b)0.08 (c)0.8 (d)0.64

71). An article was sold for Rs. 98,496 after
providing three successive discounts of 10%, 5%
and 4% respectively on the marked price. What
was the marked price?

(a) Rs. 1,20,000 (b) Rs.1,10,700 (c) Rs. 1,20,200
(d) Rs. 1,20,500

72). 1f0<6<90° andsec'?” 6+ cos'% 9 =2,
then, (secB + cosB) is equal to :



@2 (b)1 (c)% (d) 27107

73). 1f 0 <6 <90° and sin(26 + 50°) = cos(46 +
16°), then what is the value of 8 (in degrees)?

(a) 10° (b)8° (c)4° (d)12°

74). A cylinder 84 cm long is made of steel. Its
external and internal diameters are 10 cm and 8
cm respectively. What is the volume of the steel in
the cylinder (in 10"* m® and correct up to three
decimal places)?

(a) 2.112 (b) 9.504 (c)2.373 (d)4.752

75). If 10 men can complete a piece of work in 12
days by working 7 hours a day, then in how many
days can 14 men do the same work by working 6
hours a day?

(@) 15 (b)16 (c) 10 (d) 12

76). |na AABC, angle BAC = 90°. If BC = 25 cm,
then what is the length of the median AD?

(@) 10cm (b) 125cm (c) 14.5cm (d) 24 cm

77). | purchase 100 kg of tea and sell it for a profit to
the extent of what | would have paid for 40 kg.
What is my profit percentage?

() 30% (b)20% (c) 25% (d)40%

78). The two parallel sides of a trapezium are 27 cm
and 13 cm respectively. If the height of the
29

trapezium is 8 cm. then what is its area in m=?

(a) 0.032 (b) 0.056 (c)0.016 (d)0.32

79). The average run rate of a cricket team during
the first 20 overs is 4.5. What should be the asking
rate per over for the next 30 overs, if it has to
chase a target of 282 runs in total?

(a)6.3 (b)6.0 (c)6.4 (d)6.8

80). A wheel has diameter 84 cm, then how far does
the wheel go (in metres) in 16 revolutions? (Take 1
=22(7)

(a)42.24 (b)21.12 (c)36.28 (d)27.48

81). How many classical dances are there in India?
(a) Five (b) Six (c) Seven (d) Eight

82). BirjuMaharaj is a leading exponent and torch-
bearer of dance form.

(a) Kathakali (b) Sattriya (c) Lavani (d) Kathak

83). Which of the following dance is not related to
central India?

(a) JawarDance (b) Rouf Dance (c) GridaDance
(d) Matki Dance

84). Chak-Hao is the Black Rice of which state?
(a) Assam (b) Nagaland (c) Sikkim (d) Manipur

85). Which of the given statement is wrong with
respect to loamy sail?

(a) It containsSand and clay
(b) It is theworst topsoil for growing plants

(c) It has humus in it  (d) It contains silt

86). Viticulture and pisciculture are related to which
among the following respectively?

(a) Cucumber, Silk farming (b) Grapes, Fish farming
(c) Pineapple, Cotton (d) Mangoes, Yak farming

87). What is the name of the only organic state of
India?

(a) Himachal Pradesh (b) Odisha (c) Sikkim
(d) Manipur

88). Select the false statement regarding Kabir.
(a) He was a disciple of Bhakti Saint 'Ramanuja’.

(b) He wanted to transform society though peace and
harmony.

(c) He was born of a Brahmin widow.

(d) He was raised by a Muslim weaver

89). Select the wrong statement regarding Guru
Gobind Singh?

(a) He was the 11th Sikh Guru.
(b) He announced the end of personal Guruship.
(c) He named Adi Grantha as "Guru Grantha Sahib".

(d) He believed in equality of all religions.

90). The Llanos are the tropical grasslands found in
Colombia and which country?

(a) Ecuador (b) Peru (c)Argentina (d) Venezuela

91). Dasht-e Margo and Dasht-e Khash deserts are
located in which country?

(a) Iran (b) Kyrgyzstan (c) Afghanistan (d) Syria

92). How many times Pandit Ravi Shankar has
received the Grammy Award?

(a) Three (b) Two (c)Four (d)One



93). Which of the following personalities has
received the Pulitzer Prize in the journalism
category?

(a) Gobind Behari Lal (b) Jhumpa Labhiri
(c) Geeta Anand (d) Siddhartha Mukherjee

94). Which of the following is the active category of
the Ramon Magsaysay Award?

(a) Government Service (b) Public Service

(¢) Community Leadership (d) Emergent Leadership

95). Venture capital is

(a) A type of financing that investors provide to startup
companies and small businesses that are believed to
have long-term growth potential.

(b) Loan given to public sector
(c) to provide Collateral Lending to SHGs

(d) To give loan to hig corporates

96). Choose the incorrect match
(a) Monetary Policy - RBI  (b) Fiscal Policy - RBI
(c) Plastic Money - Debit card

(d) Proper Money - Indian rupee

97). Which of the following statements is incorrect
about NABARD ?

(a) NABARD was established in 12 July 1982
(b) It's headquaters are in Mumbai

(c) It was established under the Seventh Five-year
plan

(d) It provides credit facility for the promotion and
development of agriculture

98). Which country has recently banned the
International Criminal Court?

(a) Israel (b) China (c) Japan (d)America

99). Recently RBI has reduced the repo rate by how
much percentage?

(a) 0.55% (b)0.15% (c) 0.25% (d) 0.10%

100). Which Port is situated at the head of
VembanadKayal and popularly known as the
‘Queen of the Arabian Sea'?

(a) Chennai Port  (b) Kolkata Port  (¢) Kochin Port
(d) Tuticorin Port



